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boxplot = (Boxplot(init opts=opts.InitOpts()))

boxplot.add xaxis()

boxplot.add yaxis()

boxplot.set global opts() _ ‘

boxplot.set series opts()

boxplot.render notebook()

opts.InitOpts() | REVIRLEE N ¢
add xaxis() W EXHHIE

add yaxis() W E YR
set global opts() |XE£BAECEN

set series opts() |ZRERFIELED
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add yaxis()EHESE
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ser ies_name A5 BZHR, AT tooltipBE7R, legenddEl fiiFix
y axis Ay
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Xxaxis_index
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yaxis_index
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label opts PR E IN
markpoint opts Fric Rbt & IN
markl ine opts FridZkfc & In
tooltip opts IRRHEZR AL B IN
Itemstyle opts E TtE L & I
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BREA A=A
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b b HR(%)
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BREAMEZE T AN M (T) 220583 20590 19629 17917 17186 15829 14620
BEAEE THE MM

T 49 96 43 86 83 8.7
e btk
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6.0 48 1.0 14 8.1 7.8 6.7
e b 28 (%)
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>>> GBI ERRIL104

datal =
pd.read_excel('E:\Python\Anaconda\data\PeopleLife\#ﬁﬁi
FBERABBABER.x1s")

datal = [int(i) for i in list(datal.loc[O0][1:])[::-11]
data2 =
pd.read_excel('E:\Python\Anaconda\data\PeopleLife\Z?*i
BRABBAEN.x1s")

data2 = [int(i) for i in list(data2.loc[0][1:]1)[::-1]1]
datal2 = [datal, data?]

boxplot =

(Boxplot (init opts=opts.InitOpts (width='600px"',
height='400px', theme="'white')))

boxplot.add xaxis(['HWEHER', "BRNER'])

boxplot.add yaxis (' AWAISZEHA

,boxplot.prepare data(datal2))

boxplot.render notebook ()
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« 2> @ localhost:8888/notebooks/EUERHR{L-IERIEIE%20- 20T B /MR /ES— /a8 E . ipynb w ® 9 - i
T Jupyter FEE smwm 2 sum (E9EE & Logout
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In [B]:] 1 # SALHEEERBoxplots3s

Z from pyecharts.charts import Boxplot

3 # pyechartsERE“ESEEANESFED, optionsiEha st ST mHERAERETNEER
4 from pyecharts import options as opts I
3 1import pandas as pd

& datal = pd.read_excel('E:\Pythom\Anacondahdata\PeoplelifedfiBERAIMIAER.x15")
T # rEERASDEREEAGT)

& datal = [int(i) for i in list(datal.loc[@][1:D[::-1]1]

% data2 = pd.read_excel('E:\Python\Anaconda‘\data‘\Peoplelife\RHERAMAER . x1s")
10 # FHEERAIE=ZEWA(OT)

11 dataZ = [int(i) for 1 in list(dataZ.loc[@][1:1)[::-111

12 datal2 = [datal, data2]

13 # gliEZBoxplotZaaiis:

14 boxplot = (

15 Boxplot(

18 # PREEESIR

17 init_opts=opts.InitOpts(
13 # mEEmRE

15 width="600px",

20 # EEENSE

a1 height="400@px",

22 # 1 =}

23 theme="white')

24 B
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boxplot.set global opts(xaxis opts=opts.AxisOp

ts (axislabel_OptS=OPtS . LabelOptS ( font_si ze=]1 2014-2023FERAITEUIAN [ PREEIEET N
4)) ,title opts=opts.TitleOpts (title='2014-2023 ijﬂﬂj
FEERAYTIEEA ", |

subtitle=' ﬁﬁZ: f[} 50,000 - N
',pos_left='left', pos top='top',

title textstyle opts=opts.TextStyleOpts(color=
'red', font size=14), 30,0001 S
subtitle textstyle opts=opts.TextStyleOpts (col
or='red',6 font size=14)),

40,0004

20,000

legend opts=opts.LegendOpts (is_show=True,pos_1 100007 ‘
eft='70%"',pos_bottom='93%", 0 ,

legend icon='rect', orient='vertical', item gap= st RS

50,

textstyle opts=opts.TextStyleOpts(color='red',
font size=14)))
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« 2> C @ localhost:8888/notebooks/ZHEMIHE- IS RIEE%20- %20 HiR /B /=5—/75FE .ipynb r ® 2 -
T Jupyter FEEE ssws 1 ses (EHEE A oo
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from pyecharts.charts import Boxplot

from pyecharts import options as opts

import pandas as pd

datal = pd.read_excel( E:“Python\Anaconda‘\data\Peoplelife ifEERE ALME A ER . x1s")
# mEEEE AN SR (TT)

datal = [int(i) for i in list(datal.loc[@][1:[::-111

data? = pd.read_excel( 'E:\Python\Anaconda‘\data\Peoplelife’TGHERA I A ER . x1s")
# REERASREERAN(T)

% data2 = [int(i) for 1 in list(dataZ.loc[@][1:TD[::-111

10 datal? = [datal, data?]

11 |boxplet = (

In [B]:

LD =3 0 N f LD

12 Boxplot(

13 # Ta{rEIEIN

14 init_opts=opts.InitOpts(
15 # SRR

16 width="660px",
T # EEETNER

18 height="4@0px",
19 # S

20 theme="white")
21 )

22

)
23 boxplot.add xaxis(['W#H#HER", 'FHER"D
24 poxplot.add_yaxis(' AfHoTEEMEA ",
28 # WEdETHIE, ESTEINSNE. RiE. BAE. s MES). BEEEE
26 boxplot.prepare_data(datal?)
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> 2014-2023%

data3 =
pd.read excel ('E:\Python\Anaconda\data\Peoplelife\WEHER

j\j{}ji Hj'%% .x1s"') ;o;gzsmg&xmaﬁaw\-'asﬁgﬁm

data3 = [int(i) for i in list(data3.loc[0][1:]1)[::-11]
data4d =

pd.read excel ('E:\Python\Anaconda\data\PeopleLife\ &I ER
AN SCHELL . x1s ")

datad4 = [int (i) for i in list(datad4.loc[0][1:]1)[::-11]
data34 = [data3, data4]

boxplot.add yaxis (' AWRISZERA ",

boxplot.prepare data(datal2),

itemstyle opts=opts.ItemStyleOpts (border color='#58B768'))
boxplot.add yaxis (' A¥JVHHEZH

' ,boxplot.prepare data(data34),

itemstyle opts=opts.ItemStyleOpts (border color='#E31424"))
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In [5]:
import pandas as pd

# WA

datal = pd.read_excel('E:
# EERASTIZEA(GT)
datal = [int(i) for i in
data?2 = pd.read_excel('E
# ReEEREASEN BN (TT)
data?2 = [int(i) for i in
datal? = [datal, dataZ]

OO =1 O 1 f CObD =

O

# =i

data3 = pd.read_excel('E
# gnEREASHEESEEHGT)
data3 = [int(i) for i in
15 datod = pd.read_excel('E
13 # REERASESE=HL)
20 datad = [int(i) for i in
2l data34 = [data3, datad]
22

23 boxplot = (

24 Boxplot{

25 # PIRE{EBCSTRn
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from pyecharts.charts import Boxplot
from pyecharts import options as opts

“Python\Anaconda\data’\Peoplelife\ifiEERAMLAER . x1s")
list(datal .loc[@][1: ]D[::-1]1]

:\Pythom\Anacondahdata\Peoplelife\EHERAMIAIER . x15")

list({dataZ .loc[@1[1:]D[::-11]

:\Pythom\Anacondahdata\Peoplel ifeHEER MITLIER . x1s")

list(data3.loc[@1[1:D[::-1]1]

:\Pythonm\Anacondahdata\Peoplelife\{RFERAELRER . x1s")

list{datad . loc[@][1: ][ ::-11]
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